e

/ //g//;//;///é/// iy, ’//f’/ i /;’%//;//’ ’//
i ) i

/
ZORED EIREERBALBNTIES L,

1 2 3

48,
=

)3

121143115117 118

J=o2+3a - @
Y= 309+2 - @
D.@n Lhk o 1EFE S
-4+30 = 30+2
P (30+1)% +30-2=0 Q)
IRIFER D aFIBIR 2 D eh<k .

|

]; A1
0 &<,

D= (3a+1%~ 4(30-2) = 9a>-4a+9
= 9(a-£)%+8 50
. Qu. B3 270 ERME LS .
3 0.0 B3 2alEtts

@) 0.QafB32>058 0 ABHKSA, B 1Akt (d<p)
QO »b. AR BT l}o{ﬂ?-—— 30+

of = 30-2 @
k. P2 Mg, @ ba & b ot
M (2L, 30-——!‘3—0‘; +2)=( 3‘?’ ) 2""“4')

Sob2 (Mo §B1%) = £ (0r )%+ 45
. a=-—~£ae3. Mo §RH% o5 MBS —?S - 8)

@) Ray= ('o(l+lpl)2= ldJ2+2’o!le+}f312= dﬁﬁi?fdupl
(ot )*~ 208 + 2 [ip |
(3at*-2(30-2) + 2| 302 J

RAYQS

Oa s )

. 2
02 5a. J0 = (3am)* = 9(ar L)’

M 0<Zaez, Fro= (304~ 4(30-2) < 96%60+%

= e-5)% 8
5T,

777 &y /
0=Fat2, (loirig) ) a Bl 9

ltl+1g1 20 7 lal+lgl o Tl 2[5 - (&)

Sty

OK18(633—2)



&

I
=
i

COHED EITRBEEBALENTLEE L,

(1) =15 L3 s SRa3703w8w 53

(1\7 243434373 g FHle 3P v fof X

1 &
(ll\ 9.‘*:2‘1‘1"3-2‘"‘-%5 o>,§:,‘31-: | 27-])\3@‘ 3.}3‘3fﬂ 0‘\6:3;

H
6. o L
Sy TR0 M)

() 9+42%91249+2+3  ofd i~ : ~
2% Ll , 38 | Rl e

2 -
— _T‘!{ﬁ‘.g

6\
Feo pewry =28 ogay oo )

—— e i LR e hnitiry

N s R B A R NN o 3he 3oy l.
(2 A v (LR 20X B o f3eER e kb o
(&) FEIFEH 1
f i g,

; . b o
"‘(‘é\g 20 (2 T Trl=) = 25

OK18(633—3)



=

)L %/////// i
.

I
I

Pl o

TOBIY ERHEEZREALRLTIEE Y,

Fetr= f:l a-gq+ -t da = S:](sz—i)z-ﬁldx
W Jo= fozla“lzx-ri fdg = f:(m-n*dﬂ-—- [-3’-(1~t)*]:= {;‘— - (&)

= 2 2 _ z . 2 /
@ ja [ -2 fdx = L lx(a—z)ldg: - Sol(anz)dz= % (2-0)"= -jf_(g)

-—
_

4
(2) £)= 2 H 2
Jt 50 Is( 2x+(t—t)(!+t)}dx = SD H%(r—t}}{z—(wt)”di
0<tal ) O<I-t<!l, [<l+t< 2 o

_rrt +

er=§ “{apt-trhda - S:'t {02 dy + j:t {ixn*} da
_ / =t +
= [ Lia-10"- 12 ]D - L~ - ]I/—:+ [ Ha-n- % ];

L et r L) - e L v |+ | -t Lt

& 49 2 % o 44
?t -Zt +"§-‘ --- (/é‘) \ /
@ @ ¢ \/\ P

Fer= 82wt = ut (5t-1) o it 1 mt 2
j:/{'b‘) =0 &33& t=0, __t

2
05ts | 20 HIRE.

t|lo 1y
F'lol~1o ]+
$HEI || A | %

il S - S () (54 E =L

2
rirg ! = ' X
t=gort. B ey BB 5 &)

OK18(EIT—D



